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Examiner’s Comments

Q1. Vectored thrust aircraft. Sensitivity and conformal mapping.
Most candidates made good attempts at this question. None of the question parts
caused undue difficulties for the majority of candidates.

Q2. Bode gain/phase and compensator design.
A rather unpopular question but with most of the few attempts being very good.

Q3. Lift control system. Two-degree-of-freedom design.
A popular question attempted by all candidates. A common mistake was to fail to
recognised that a two-degree-of-freedom design was needed in the final two parts.




